! ‘does the equation




13';::?“9‘“ long reaches a point 9 m
From e top of a vertical flagstafy.
tion the foot of he ladder, the eleva-

X of the flagstaff is 60°, What is the
height of the flagstaff ?

(8) 9m
(b) 105 m
(¢) 13:5m
(d) 15m

14, What is the length of the chord of a
unit circle which subtends an angle e
at the centre 7

o ult

o off

o0 )

0 o)
s (3]
(2)
(b)

(©)

Rl lw wim

(d

=

real roots ?
(a) 12
(b) 10
(e) 7
(d) 6

17. What is the value of
1-2+3-4+5—_ +1017

(a) 51
(b) 55
(c) 110
(d) 111
18. If 4, B and C are subsets of a given set,

then , which one of the following
relations is nef correct 7

(a) AU(ANB)=AUB
(b) AN(AUB) =4
(c) (ANBUC =(AUCN(BUC)
) (AUB)NC = (ANC)U(BNC)
19. If the sum of first n terms of @ series is
(n+12), then what is its third term ?
(a) 1
(b) 2
(c) 3
(@) 4



20. What is the value of k for which
the sum of the squares of the rools
of 262 — 2(k—2)x — (k+ 1) = 0 is mini-
mum ?

(2) -1
(b) 1

3
(c) E
(d) 2

21. If the roots of the equation
a(b-c)+blc—a)x+ela—b)=0
are equal, then which one of the
following is correct 7
(a) a, b and ¢ are in AP
(b) a, b and ¢ are in GP
(¢) a, b and c are in HP
(d) a, b and ¢ do mot follow any

2.1 [x*-3x+2| > 2®-3x+2, then
‘which one of the following is correct ?
(a) x<lorx=2
(b) lsx=2
() 1<x<2
{&) X mmyrmlvnlua except 3 and 4

23, A geometric progre ssion (GP) consists
ﬁfﬁﬂﬁrhmmﬂﬂlﬁMHfﬂm
mﬁmﬁ'mmmmmum

24, If a set A containg 3 H
anuth:rsetﬂcmﬁm
what is the minimum gy 1
clements that (AUB) can haye 7 hf

(a) 3
(b) 6
(c) 8
(d) 9
25. What is the number of diagonals of an
octagon 7
(a) 48
(b) 40
(c) 28
(d) 20

26. What is the value of the determinant
i o2y et

21 31 4l

31 41 5!

(a) 0

(b) 12

() 24 il

(d) 36




28. If X*ta+b+e=0, then what is the
value of

x+a p %
@ xt+tb ¢
a b x+c
(a) 0

© @+8+e

(d) a+b+e—2

?

29.1If A= [i hl] then the expression
-2
(a) a null matrix
(b) an identity matrix
(c) equal to 4
(d) equal to -4

30. Let m and n (m<n) be the roots of

— 16x+ 39 = 0. If four
the equation x
terms p, q,rands are inserted between

value of p+q+r+s?
@ 29
() 30

\. :1351:
*: e

mandnmfelmm.ﬂ' then what is the

(b) The vectors are perpendioular
(¢) The vectors are anti-parallel
(d) The vectors must be unit vectors

33. MﬁﬂMﬁMWﬁ
twuveﬁtursnmdb




39. An equilateral triangle has one vertex
at (=1, —1) and another verlex at

("’Ei ‘\E) The third vertex may lie
on

@ (2, 42)
() (1, 1)
(@ (1,-1)

40. If the angle between the lines joining
the end points of minor axis of the

ellipse £+~§—2-r1 Mﬂlmoﬁtﬂfbﬂ
w,_.., Mwhatlsﬂnﬁmt)’ﬂf
ﬁeelhime?

41. A pont on a line hag

(p+1, p-3, \2p) m'
real number. What mﬁ. :
cosines of the line ? o

1
(ﬂ)‘ Et —l'r 2

42. A point on the line

;—1?;__-_.3'.:_-.-.3'__‘___;2:%25 S
_ {3t 2 = g
® @59
® w&.@g




4. A straight line passes through the
Point (1, 1, 1) makes an angle 60° with
the positive direction of z-axis, and
the cosine of the angles made by it
with the positive directions of the
y-axis and the x-axis are in the ratio
V3 :1. What is the acute angle between
the two possible positions of the line 7

(a) 90°
(b) 60°
(c) 45°
(d) 30°

45. If the points (x, y, -3), (2, 0, 1) and
4, 2, 3) lie on a straight line, then
‘what are the values of x and y respec-
tively 7

@ 1,-1

47. What is the value of

[H--ﬁr” . |:£:..__ -
2 Ca

i)
I
® 1 =+ .
| -II -
{b} _‘[ s i
1,
(c) 2 i
(d) -2i

48. If o and B are the roots of
x*+x+1 =0, then what is

3 |
(e +87) equal to ?
j=0
(a) 8
(b) 6
(c) 4
(d) 2
49. In a school, 50% students play cricket
and 40% play football. If 10% of
students play both the games, then what

per cent of students play neither cricket
nor football ?

() 10%
b) 15%
(c) 20%

@ 25%

HTM
c - BEMD-



S0.IfA={x:0<sx<2} and B= {J“;'n‘; ﬁpaumunof
:qg;t:tz: ?numbur}. then what 18 (1+2x+ 2P+ :,.fﬂ:;
(a) @ (a) 12
(b) {1}
() {2} ks
@ {1,2) (© 21
51. If x=1+ i, then what is the value of (@ 22
B4+ 22412
(@) 6i—3

55. If the mim-m-m-.ﬂm.. B,

(b) —6i+3 1

(ﬂ} —6i=3 (_‘l’.z +E) 18 13475&1 the ﬁ‘.‘l""

(d] 6i+3 ﬂi.ﬂ'f.aluﬁ-ﬂfﬂ 7 _ I
52. What is the value of (a) 10 '

(b) 8




&7, If n! has 17 zeros, e what i
value of n 7
(a) 95

(b) 85

(c) 80
(ﬂ} No such value of 7 exists

8. Let AUB =
a= b} .

{x|(x—a)x—B) > (), where
What are A and B equal t0 ?

(@) A= {x|x>a}andB= {x|x> b}

(b) A= {x|x<a}and B={xlx>b)

() A={x|x<a}andB= {x|x< b}

(@) A= {x|x>a)and B=(x|x<b}

59. Ifthemnstmttnrm in the expansion of

62. Consider the following
1. fTgt] isapolyno

Which £

1

3
AL O1
s,

,_rh_:,l..'- -:_'=.'._-_'.I'.'.' 3

||||||




§7. WEAL IS S8 derivative of 205m 7
with

- i ﬂ‘; ”l'ﬂ“’l : ;
pirections. far the ﬁ!-’-‘un'mﬂ o ( ) respect {0 SIN X ‘]"
o rarmation and answer ] i
gead the fotlowing pfor™ @ it gffm-i'.' a
the twa jjems that follow - 2
2si {min®)
Cansider the In1EE" als y (b) 2sinx2 nd
: o _ s \ ) f
.IrI == - l.'ﬂfl'__ _'Iﬂd Jr: ::J:'I 1- Ein{.# =+ _1.'} (F} Jﬂ(ﬂl“ x] 1[ xr
M - .
(d) 2sinx 0S¥ HinF

is the function

value OF I?
68. For what value of ¥

a4, What 15 the

()
) =
fc)] %
(d} In
§5. What 18 {he value of L+ R? (@) %
(a) 27 ¥
b =
(b) = 2
i © 1
g) —
(c) 3
o mﬁmwﬂfﬁlﬂ region enclosec

between the curve y*=2x and the

66. The differential equation which repre= straight line ?
traight line y =x

sents the family of curves gi
. ; ven b
tan y = e(1 - €7 i8 BE

W
(%) Esqumm
(a) e~ tanyds+(1—€)dy=0
(8) e tanydy + (1~ e)sec’ydy =0
(©) e*(1-e)dy+tan ydy="0




. ' 5x7 .
70. If f(x) = "—3 - -Z— +6x+ 7 increases in & g‘e;"“d“m of the observations 2.3
5 ol oy _-". X I_._ x+ 3 ] 1 q.
511-& interval 7" and decreases in the ascending order tsl::' %‘5?, 58 in
interval 5§, then which one of the values of 5th angd ﬁll.h h-li e the
following is correct 7 respectively 7 00SerVation.
(a) T =(—0o, 2) U (3, o) and 5= (2, 3) (a) 42, 45
h) T'= dS=(
(b) ¢ and 5= (-0, o) ®) 41, 43
() T=(-mw, x) and S=¢
(c) 43 45
(d) T'=(2,3)and = (-0, 2) U (3, )
(d) 40, 40
71. A coin is biased so thal heads comes
up thrice as likely as tails, For three 74. Arithmetic mean of 10 observations is
independent tosses of a coin, what is 60 and sum of squares of deviations
the probability of getting at most two from 50 is 5000, What is the standard
tails 7 deviation of the observations 7
(a) 016 (a) 20
0-48
(®) & a1
(c) 058
(c) 2236
(d) 098
(d) 24-70

72. A bag contains 20 books out of which
5 are defective. If 3 of the books are e t6ots of the equation
selected at random and removed from 7- gfi ?1;3 ;‘;1 ;u_, i ihn:q lm' qu
the bag in succession without ‘r’:placr:- e q"?
ment, then what is the probability that
all three books are defective ?

(a) 7010
R (b) 7110
0.016 ‘
:b)) 0026 A
c -
g ¢ - pEM-DATY



- minimum value of 79. What is sin(a+ §) — 2sin@
sin(a— ) equal o ?

(@ 0

() 2sinc
() 2sinf -

.
(d) sina +sinfl |

g0. 1f 2tand=3tanB=1, then °
mglaﬂufatnangle:ABCarem- tan(A — — B) equal 10? : 3
mﬁ& e=4/3:4/2, then what is : )
ﬂmmaasme of angle A4 7

@ % | .
(a) 30° '

(b) 45° - i
- |
() 60° '



i 'ﬂ.t' ”:-'E‘ 53 J;Eﬂ. uﬂlg.-:ﬂ?l DOLNCH

(a) 40 square units
(b) 80 square units
(¢) 120 square units
(d) 160 square units

) (eats 87. Consider the following statements in

(¢) 2tand respect of the function ﬂ,r}-sm(l)
(d) 2cotd for x # 0 and f(0) = 0: .

84, What is cotd + cosecA equal to ? 1.im Je)

@) _m(gj 2. f(x) is continuous at x=0

Whmhnfthaabawmmmnmﬂmfm

® o(3) T:t;ly

(¢) 2t ﬁ) (b) 2 only
(c) Both1and2
(d) Neither | nor 2




88. What is the value of fim -S0*° o
*0 tan3x®

(&)

=

(b)

] —

1
(c) 5

(d) 1

89, What is the degree of the differential

2, a * 3 llll41’
cxmin 3+(2)] -+{ -

(a) |1
(h) 2
(c) 3

(d) 4

90. Which one of the following is the
second degree polynomial function
fix) where f{i0)=5, f(-1)=10 and
A1) =67

(a) 5x*-2x+5
(b) 3x*-2x-5
(¢) 3r-2x+5

(d) 3x2—10x+5

31

91. For the vanables x and ¥,

92.

the two

gress i = and
ion lines are Ox Ty 30

;+2y=25. What are the values of

%, 3 and r respectively ?

35

@ 5o g0 0
() %q E,?-ﬂ*-‘*
© 5 5 0%
(d) %;r-'- 3}.9 o

The class marks in a frequency table
are given to be 5, 10, 15, 20, 25, 30,
35, 40, 45, 50. The class limits of the
first five classes are

(a) 3-7, 7-13, 13-17, 17-23, 23-27

() 2:5-7-5, 7-5-12-5, 12:5-17-5,
17-5-22-5, 22:5-27-5

(c) 1-5-85, 8:5-11-5, 11:5-18:5,
18-5-21-5, 21-5-28:5

(d) 2-8, 8-12, 12-18, 18-22, 22-28

. The mean of 5 observations is 4-4 and

variance 15 824. If three of the five
observations are 1, 2 and 6, then what
are the other two observations ?

(a) 9,16
(b) 9,4

(c) 81,16
(d) 81,4

C - BEM-D-HTM



34. Consider the following statements :

I The magnitude of @x5 is same
2 the area of a triangle with sides
@ and b

Which of the aboye statements is/are

() 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

35.1f @ and b are unit vectors and @ is
the angle between them, then what is

gin? [.g;]@ws t0?

for all . _
(a) for all rea| Numbers o it
(b) only when g « g
(c) only when b « ¢

@ oy hen o et v
ZEr0O

37. What is the angle between the jge,

xcosa+ysina=a an

xsinfl - ycosf=a?
@ B-a

O r+f-«a




(%) 50,10

tu.uy ¢MIH“YE:
8 Pogsible that (b) 50,15

: and r*" {¢) 55, 10

I- m _l;;n‘:"h‘w“ EVents such
b "‘PWIAJ=1 (d) 55,15

102, If the range of a set of ohservations on
4 viriable X is known lo be 29 and if
¥=40+3%, then what is the range of
ﬂiﬂlﬂi of corresponding observalions




113. Which one of the following is the
differential equation that represents Ue

fﬂﬂﬁ]}' of curves y= whete ©

=
2x" =2t

is an arbitrary constant 7

G g

(a) = 4xy

equal to ? o
OE

@

RlS
<

(d) —=—4x"

B |3

Di'm&ﬁbn:furlh:ﬁrﬂawhg fwo (02) ftems @
.I_I
| i dx

M the fﬂnﬂiﬁng-illﬁ}mnmm and Answer
equalto(n=1)7 the two items (hal follow -

Consider the equation =¥ = ¢
=

I
II :-...:-!.i | — ;.-;'T_' .I - st " 1] . f+c 2 ‘b' F e . [ 1 "}
- +in ;)5-1 114, What is 5 #ox =1 equal 10

(a) O
{b) 1
(€) 2
Ve Wy 4

AL C o WEMAD-HTM



118, WHilL g the perod of the Tunction
i)
(a) 10z

(b) 207

(c) 40w

(d) 8O




